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COORDINATE GEOMETRY

1. Find the coordinates of the point which divides the

join of (1, 7) and (4, 3)in the ratio 2: 3.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3hCLSuMk5aY1
https://dl.doubtnut.com/l/_MRJfuIdOeT2E

2. Find the coordinates of the points of trisection of

the line segment joining (4, — 1) and ( — 2, — 3).

o Watch Video Solution

3. If A and B are (—2, —2)and (2, —4),
respectively, find the coordinates of P such that

3
AP = 7ABand P lies on the line segment AB.

o Watch Video Solution

4.Find the coordinates of the points which divide the

line segment joining A( — 2,2) and B(2,8) into


https://dl.doubtnut.com/l/_MRJfuIdOeT2E
https://dl.doubtnut.com/l/_mG5zkAumFBlW
https://dl.doubtnut.com/l/_LttSb9wdIh7D

four equal parts.

o Watch Video Solution

5. To conduct Sports Day activities, in your
rectangular shaped school ground ABCD, lines have
been drawn with chalk powder at a distance of T m
each. 100 flower pots have been placed at a distance
of 1T m from each other along AD, as shown in figure.
G 1 . :
Niharika runs 1 th the distance AD on the 2nd line
1 :
and posts a green flag. Preet runs 5 th the distance
AD on the eighth line and posts a red flag. What is

the distance between both the flags ? If Rashmi has

to post a blue flag exactly halfway between the line


https://dl.doubtnut.com/l/_LttSb9wdIh7D
https://dl.doubtnut.com/l/_Tu9xiQnGP4sL

segment joining the two flags, where should she post

her flag ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Tu9xiQnGP4sL

6. If (1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a

parallelogram taken in order, find x and y.

° Watch Video Solution

7. Find the coordinates of a point A, where AB is the
diameter of a circle whose centre is (2, 3) and B is

(1, 4).

° Watch Video Solution

8. Find the ratio in which the line segment joining the

points (— 3, 10) and (6, — 8) is divided by (-1, 6).


https://dl.doubtnut.com/l/_REDskylLNZK5
https://dl.doubtnut.com/l/_crp3oKeDaqGt
https://dl.doubtnut.com/l/_B9KVvRWntuTT

o Watch Video Solution

9. Find the ratio in which the line segment joining
A(1, —5) and B( — 4, 5) is divided by the x-axis.

Also find the coordinates of the point of division.

° Watch Video Solution

10. Find the area of a rhombus if its vertices are

(3,0),(4,5), ( — 1,4) and (2, 1) taken in order.

o Watch Video Solution



https://dl.doubtnut.com/l/_B9KVvRWntuTT
https://dl.doubtnut.com/l/_ne9k9uXqOWgy
https://dl.doubtnut.com/l/_QJgsJYASCKhP

1. ABCD is a rectangle formed by the points A(1, 1),
B(1, 4),C(5, 4) and D(5, 1). P, Q, R and S are the
midpoints of AB, BC, CD and DA respectively. Is the
quadrilateral PQRS a square? A rectangle? or a

rhombus? Justify your answer.

° Watch Video Solution

2. Determine the ratio in which the line 2x +y - 4 =0
divides the line segment joining the points A(2, - 2)

and B(3,7).

N |


https://dl.doubtnut.com/l/_WeD1ezbwHwCy
https://dl.doubtnut.com/l/_mrcHW5M0h9Uz

[ oW \Watch Viaeo Solution ]

3. Find a relation between x and y if the points (x, y),

(1, 2) and (7, 0) are collinear.

° Watch Video Solution

4. Find the centre of a circle passing through the

points (6, — 6), (3, — 7)and (3, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_mrcHW5M0h9Uz
https://dl.doubtnut.com/l/_4r5nK4HAZc7O
https://dl.doubtnut.com/l/_QlnWcpdmmTn3

5. The two opposite vertices of a square are (1, 2)
and (3, 2). Find the coordinates of the other two

vertices.

o Watch Video Solution

6. The Class X students of a secondary school in
Krishinagar have been allotted a rectangular plot of
land for their gardening activity. Sapling of Gulmohar
are planted on the boundary at a distance of 1T m
from each other. There is a triangular grassy lawn in
the plot as shown in the Figure. The students are to

sow seeds of flowering plants on the remaining area


https://dl.doubtnut.com/l/_GGF9snOP1FYr
https://dl.doubtnut.com/l/_qB8rCVlYgueD

of the plot.

(i) Taking A as origin, find the coordinates of the
vertices of the triangle.

(i) What will be the coordinates of the vertices of
DPQR if Cis the origin? Also calculate the areas of the

triangles in these cases. What do you observe?

. P 4

A12345678910 R

o Watch Video Solution



https://dl.doubtnut.com/l/_qB8rCVlYgueD

7. The vertices of a AABC are A(4,6), B(1,5) and
C(7,2). A line is drawn to intersect sides AB and

AC at D and E respectively, such that

AD—AE—lcl late th f the AADE
1B~ ac — 1C@lculate the area of the

and compare it with the area of AABC

o Watch Video Solution

8. Let A (4, 2), B(6, 5) and C(1, 4) be the vertices of
AABC.

(i) The median from A meets BC at D. Find the
coordinates of the point D.

(i) Find the coordinates of the point P on AD such


https://dl.doubtnut.com/l/_WMcGazXaVRTh
https://dl.doubtnut.com/l/_iB5c1tsgDaFF

that AP: PD=2:1
(iii) Find the coordinates of points Q and R on

medians BE and CF respectively such that BQ : QE=2:

land CR:RF=2:1.

o Watch Video Solution

Solved Examples

1. Find the area of the triangle formed by the points

P(—-1.5,3), Q(6, —2)and R( — 3, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_iB5c1tsgDaFF
https://dl.doubtnut.com/l/_s9Jynt2QXtfE
https://dl.doubtnut.com/l/_12wRRDbabLTk

2. Find the area of a triangle formed by the points

A(5, 2), B(4, 7) and C(7, 4).

o Watch Video Solution

3. Find the area of a triangle whose vertices are

(1, —1), (—4, 6)and ( — 3, —5).

° Watch Video Solution

4. If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are
the vertices of a parallelogram, taken in order, find

the value of p.

& l


https://dl.doubtnut.com/l/_12wRRDbabLTk
https://dl.doubtnut.com/l/_vUHhecnE64PV
https://dl.doubtnut.com/l/_OXdbd8LEtGVs

| ¥ Vvvatcn Video >olution

5.

If

A(—-5,7),B(—4, —5), C(—1, —6)andD(4, 5)

are the vertices of a quadrilateral, find the area of the

quadrilateral ABCD.

o Watch Video Solution

6. Find the wvalue of k if the

A(2, 3), B(4, k) and C(6, 3)are collinear.

points

o Watch Video Solution



https://dl.doubtnut.com/l/_OXdbd8LEtGVs
https://dl.doubtnut.com/l/_jHjMNCiFq4bK
https://dl.doubtnut.com/l/_PnV79Bbx5lXq
https://dl.doubtnut.com/l/_PhqXaM4sCKiY

7.Find the coordinates of the points of trisection (i.e.,
points dividing in three equal parts) of the line

segment joining the points A(2, 2) and B(7, 4).

° Watch Video Solution

8. Find the ratio in which the y-axis divides the line
segment joining the points

(5, —6) and ( — 1, — 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_PhqXaM4sCKiY
https://dl.doubtnut.com/l/_uRyB8bCxwGbF

9. Do the points (3, 2), ( — 2, — 3)and (2, 3)form

a triangle? If so, name the type of triangle formed.

° Watch Video Solution

10. Show that the points
(1, 7, (4, 2), (—1, —1)and( —4, 4) are the

vertices of a square.

° Watch Video Solution

1. In the seating arrangement of desks in a

classroom three studens Rohini, Sandhya and Bina


https://dl.doubtnut.com/l/_uFCXl2PGzqDn
https://dl.doubtnut.com/l/_wTMv1RTB4CCr
https://dl.doubtnut.com/l/_jkwmbJo9eRvl

are seated at A(3,1), B(6,4)andC(8,6)- Do you

think they are seated in al line?

° Watch Video Solution

12. Find a relation between x and y such that the
point (x ,y) is equidistant from the points (7, 1) and (3,

5).

° Watch Video Solution

13. Find a point on the y-axis which is equidistant

from the points A(6, 5) and B(4, 3).

[ a Watch Video Solution ]


https://dl.doubtnut.com/l/_jkwmbJo9eRvl
https://dl.doubtnut.com/l/_RYKiFDhmqVvk
https://dl.doubtnut.com/l/_Q3d1HboBAulL

14. Find the coordinates of the point which divides
the line segment joining the points (4, 3) and (8, 5)

in the ratio 3 : Tinternally.

° Watch Video Solution

15. In what ratio does the point ( — 4, 6)divide the
line segment joining the points

A( — 6,10) and B(3, — 8)?

° Watch Video Solution



https://dl.doubtnut.com/l/_Q3d1HboBAulL
https://dl.doubtnut.com/l/_6E5TNTeTaWRK
https://dl.doubtnut.com/l/_tKbalueGge7S

1. Find the point on the x-axis which is equidistant

from (2, —5) and (—2, 9)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RfH6eAy9YeqG
https://dl.doubtnut.com/l/_z21BxTwxD1uT

2. Name the type of quadrilateral formed, if any, by
the following points, and give reasons for your
answer:

() (=1,-2),(1,0), (-1,2), (=3, 0)

(i) (-3,5),(3,1),(0,3), (-1,-4)

(iii) (4, 5), (7, 6), (4, 3), (1, 2)

o Watch Video Solution

3.1In a classroom, 4 friends are seated at the points A.
B. C and D as shown in Fig. 7.8. Champa and Chameli
walk into the class and after observing for a few

minutes Champa asks Chameli, Don't you think ABCD


https://dl.doubtnut.com/l/_z21BxTwxD1uT
https://dl.doubtnut.com/l/_0uuBNN1Dq3qw

is a square? Chameli disagrees. Using distance

formula, find which of them is correct.

° Watch Video Solution

4. Check whether (5, — 2), (6,4) and (7, — 2) are

the vertices of an isosceles triangle.

° Watch Video Solution

5. Determine if the points

(1, 5), (2, 3) and ( — 2, — 11) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_0uuBNN1Dq3qw
https://dl.doubtnut.com/l/_w8i3P0EO4qwU
https://dl.doubtnut.com/l/_QoJShhLcBMec

6. Find the distance between the points (0, 0) and (36,

15).

° Watch Video Solution

7. Find the distance between the following pairs of
points :

() (2,3), (4, 1)

(i) (-5,7), (-1,3)

(i) (a, b), (—a, —b)

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1NQbi19SzUd
https://dl.doubtnut.com/l/_0ETRbmsZNUWF

8.1f Q(0, 1) is equidistant from P(5, 3)and R(x, 6), find

the values of x. Also find the distances QR and PR.

° Watch Video Solution

9.Find the values of y for which the distance between

the points P(2, — 3) and Q(10, y)is 10 units.

Ay=9
B.y= —5
Cy= —3

D.Both Aand C


https://dl.doubtnut.com/l/_qHQQ4nI5PHum
https://dl.doubtnut.com/l/_0tJpOWSzJwcD

Answer: D

o Watch Video Solution

10. Find a relation between x and y such that the
point (x, y) is equidistant from the point (3, 6) and
(—3, 4).

Adx —y—5=0

B.3zr +y+5=20

C3z+y—5=0

D. None

Answer: C


https://dl.doubtnut.com/l/_0tJpOWSzJwcD
https://dl.doubtnut.com/l/_KHPqyFCYchk4

o Watch Video Solution

1. You have studied in Class IX, (Chapter 9. Example 3),
that a median of a triangle divides it into two
triangles of equal areas. Verify this result for A ABC

whose vertices A(4, - 6), B(3, -2) and C(5, 2).

o Watch Video Solution

2. Find the area of the quadrilateral whose vertices,

taken in order, are (—4,-2),(-3,-5),(3,-2) and


https://dl.doubtnut.com/l/_KHPqyFCYchk4
https://dl.doubtnut.com/l/_tLrtlsukwWAp
https://dl.doubtnut.com/l/_jkLUVX0wjFXn

(2, 3).

° Watch Video Solution

3.Find the area of the triangle whose vertices are
(i (2,3),(-1,0),(2,-4)

(”) (_ 57 o 1)7 (37 _5)7 (57 2)

° Watch Video Solution

4. Find the area of the triangle formed by joining the
mid-points of the sides of the triangle whose vertices
are (0, -1), (2, 1) and (0O, 3). Find the ratio of this area

to the area of the given triangle.


https://dl.doubtnut.com/l/_jkLUVX0wjFXn
https://dl.doubtnut.com/l/_LzNsx06yAqZt
https://dl.doubtnut.com/l/_lBUtyPnKymmB

o Watch Video Solution

5. In each of the following find the value of k for
which the points are collinear.
(i) (77 _2)7 (57 1)7 (37 k)

(ii) (87 1)7 (ka _4)7 (2a _5)

o Watch Video Solution



https://dl.doubtnut.com/l/_lBUtyPnKymmB
https://dl.doubtnut.com/l/_nYMjZYGA5vuf

